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Quantitative Aptitude Sunday Mega Quiz for RRB NTPC - (Solutions)

S1. Ans.(a)
Sol.

lJc — lx =10
5 7

2x

— =10

35

x=175

S2. Ans.(d)
Sol.

Number = 899k + 63

. 899k + 63 &3
Remainder = =— =5
29 29

$3. Ans.(b)
Sol.

First number = 102, last number = 198
= +1=21+1=33

Total numbers =
n
Sum = E[Za + (n- 1)d]
33
=?[z>c 102 4 (33— 1) x 3]

33 33
= - [204 +96] == x 300
= 4950

$4. Ans.(c)
Sol.

Dividend = quotient = divisor + Remainder ve Hiags

Divisor = 25 x g= 25 x 16= 400 RRB NTPC @

Divisor=5= R

4005 R SELECTION BATCH é V4

R =80 CRASH COURSE

Dividend = 16 x 400 + 80= 6400 + 80= 6480 », =
Jaddazyy

S5.Ans.(a) rts February 12, 2020

Sol. 3 =

Unitdigit=1X2X3X4X5X6X7X8X9=0 9 AMto 1PM | Bilingual
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S6. Ans.(a)
Sol.

Sum of 15 n odd numbers = (n)*= (19)* = 361

S7.Ans.(d)
Sol.

Sum of squares of 15 n natural numbers=
10X 11X 21

385

Sum =

S8. Ans.(a)

Sol.

Numbers — 7x, 8x

L.C.M of (7x, Bx) = 7 X 8x= 56x
S56x = 280

x=05

Numbers — 35, 40

S9. Ans.(d)

Sol.

X — cows, v — hens

X+y=180= 2

4x + 27 = 420
2x +2y =360
4x + 2y =420
2x = 60

x=30

Number of cows = 30

$10. Ans.(d)

Sol.

Let number of seat in one bus = x
Total seats — 3x

. 4 _ 12x
No. of seats occupied = 3x x =
12x
Mo. of Passengers = .
12x 1 dx
Passengers left=— x - = —
5 4 5

. 12x 3x S
Remaining Passengers = P
No. of seats = 2x

9

. . Oz
Traction of seats occupied = <
ax

aln+1)(2n+l)

&
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S$11. Ans.(d)
Sol.
10 1

= ':I = —_— —
Rate = 10%; o0 10

Let principal = (10)* = 100

Interest 1t year = 100,/10 = 10
Interest 20d year =% + %= 10+1=11
Clfor2years=10+11=21
SIfor2years=10+ 10=20

(21 - 20)r — Rs. 65

1r = 65

100r — 6500 Rs.

S$12. Ans.(a)
Sol.
—cgp— 2 — 1
Rate = 504= o0 70
Let principal = (20)*= 400

400
Interest 1** year = = - 20

nd .- 200 , 20 _
Interest 2nd year 2n+zu 21
Clfor 2years=20+21=41
41r —+ 328 Rs.

1r —+ 8 Es.

400r —+ 3200 Bs.

S.[ = 2200%2%5_ 330 Rs.
100

$13. Ans.(a)
Sol.
Yearly —

Rate — 2004 = f , Time = 1 year
Let principal = 5

CI=5/5=Rs. 1

Half yearly =

Rate = :2—0 % = 109

Time = 2 half year

5 5 05
T T
=1.05
(1.05-1)r — 723
0.05r—= 723
Sr— 72300

Sum = 72300 Rs.

3 Months Subscription

RPRRNTPM

SUPREME

All Railway Video Courses

3 | www.bankersadda.com

www.sscadda.com | www.careerpower.in | www.adda247.com


https://store.adda247.com/comprehensive-video/2751/RRB-NTPC-Supreme-Video-Subscription-Validity:-3-Months

S$14. Ans.(d)

Sol.
Let capacity of tank — x
Let capacity of bottle = y
ATQ,
4x 3x
? - flj.-’ + 4_}? = T

4y 3x_2
5 4 7

16x —15x ,
20

x =40y

40 bottles of oil is required.

$15. Ans.(c)

Sol.

1 1 1 1 1
VT —Ve Ve—vs \5—2 Ya—v7 3-8
:ﬁ+u@_(n@+£)+£+z_(¢§+ﬁ)+(3+u@)

7—6 6—5 5—4 8-—-7 9—8
=V7+Ve—-Ve—-Vs+Vs+2-VB-V7+3+8
=2+3=5
$16. Ans.(b)

Sol.
C.P=43.20 x = = === 48 Rs.
SP=48 x — = 52.3 Rs.
100
$17. Ans.(a)
Sol.

C.P of 15t mobile = 6000 X E= 5000 Rs.

C.P of 2°d mobile = 6000 X ——= 8000 Rs.

Total C.P = 8000 + 5000 = 13000 Rs.
Total S.P = 12000 Rs.

1000 100
= = —— = Q
Loss 9% 13000 = 100 2 7.7%
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$18. Ans.(b)
Sol.
x tan 60° + cos 45°% = gec 45°

1-;1:::'1nﬁ[]"’=w.."'f—ml—lE

1
x><\-"§=—

V2

$19. Ans.(a)
Sol.

P

VAN
\_/

£POB = 180° - ~POA = 180°-120° = 60°
£POB+ £PBO +20PB = 180°

60 + ~PBO +2,0PB = 180°

£0PB = #PBO(* PO = 0B =)

w 2/PBO=120°

£PBO = 60°

$20. Ans.(c)
Sol.
Slﬂ

Ajg= — =80
10 10

Sj_a =800
Sg + 60 =800
Sq=720

S10=720+ 50790

Average = Po-79
10

6 Months Subscription

$21. Ans.(c)
so. RRB NTPC
9 2

18 KA MAHA PACK
6 3 Test Series, Live Classes,
Both puncture together will Video Course. eBocke
make it flat in = - minutes '

3 : oge
=37 min Bilingual
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$22. Ans.(a)
Sol.

Let the work done by each one
of A, B & C per day be x, v, z.

. 1
x =—
YT 12
1
x=——
12 7
et
z=—
Y 16
1
z=——
16 °
ATQ,

Sx+7y+13z=1
5 13
——5}=+?}=+E—13y=1

12

S 13 _
12 16 - 7
11

Y~ a8
y=1/48

B alone will finish the work in 48 days.

$23. Ans.(a)

Sol.

Three sides of triangle =a+b,b+c,c+a
2(a + b+ c)

5§=— > =—a+b+c

Area= Js(lﬁ —x){(s —¥)(s — z)
=J(a+b+c)abe

S$24. Ans.(a)
Sol.

No. of spheres

%E(SG]E X 45

= 2 :
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$25. Ans.(a)
Sol.
C

G 0

AJE F B

AE=2

EB=6

ED=3

AE = EB=CE = ED
2x6=CE=x3
CE=4cm
CD=4+3=7
EF=AE -FBE - AE
=8-4-2

=32

Radius = G)E +(2)?

B 49 ta
4

1
= E '\1'55
Diameter = /65
$26. Ans.(a)
Sol.

Kites of Rs. 20 is available for Rs. 19
Discount = 1004
Kites of Rs. 20 is available for Rs. 18

No. of Kites = f—ﬂ x 27=3

$27. Ans.(c)
Sol.
Total C.P =1600 + 2400= 4000

Total C.P = 1600 + 2400= 4000

S.P after discount = 7800 x %= 7020

_ 3020 _
Profit 9% = promly 100 =75.5%;
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$28. Ans.(c)
Sol.

Area of circle = kr?

Area of smaller circle = 9k
Area of larger circle = 25k
Ratio = (25k - 9k) : 25
=16k: 25k

=16:25

$29. Ans.(d)

Sol.
R+2xC=17x3=51
R+2xC=17=3=51
W+ 2C=16 =% 3= 48
W+51-R=48
W+51-33=48

W =30 years

$30. Ans.(a)
Sol.
Effective change

b
=a+bh+——
100

Let the other side is decreased by x%

=30-x-2=p
100

TEST SERIES
Bilingual

RRBNTPC

CBT1+CBT 2

100+ TOTAL TESTS
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